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(1) BH2 =BA2+AD2+DH? = 3% + 72 4 82 = 122. BH= /122.

(2) E41k% £/7% BEGC & CGHD 230 &9 & 9 1CJEBT 2 & /7% BFHD O o5 X 25k 2 %.

V8 + (T+3)% = V164 = 2/11.
(3) 10(x4+4) = (x—3)2=5. >Ta2—160—36 = (z+2)(x—18) =0. .z = —2,18.
(4) 36 <ya<46=36%<a<46% T4%bbH1296<a<21.16. k>Ta=13,14,---,21 ® 9.
(B)y=(r—a)?+b=a2—2ax+a>+b £>T-2a=4a>+b=11%5Da=—-2,b="1.

(6) (5) D y=2a%+4z+1113y =22 % ¢ WHMC —2, y WAFIC 7 72T FBE L 2 m&sn s
y=a2—-100+23 = (x—5)?-2Fy =22 Z 2 WHAIZ —2+2c+1=2¢c— 1, y W/FAIC 7T+2d—1 =2d+6
AT E L 5, 2c—1=5,2d+6=-2. x> Tc=3,d=—4.

(7) (a—6)(b—6)(c—6) A0S a#6DDbA6DDc£6, ThbE a,b,c ETRTLHE 5DBTNHLTH 5.
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T, coBaoiky O — 125 v ckpppEriz 1 — 125 — 9L

6° 216 216 216"
" _A+a® -V _ AB*+BC*-CA® _ 4245262 _ 1
[6] (8) ALY cos B 2ca 2. AB-BC 245 8"
2 /
(9) sinB=+/1—cos2B = 17(%> :ﬁzgsﬂ. AABC D[l S &
§=~ AB-BCsinB =~ 4.5 3\f 15[

[7](10) By S 2l+.. - SEHA D5 | 7| 152019 = 3 x 673 DAL,
J:O“C:3,2+— C 673,
673 a7, A0 6 gr[x] pm
2% v grr[z] vt e[V ]=5 su[x]=5
:5@&%24—5—52:673:5:673+52—2§698.244:05245:1024.
CNBFET 306 [ x]#5 ko<[v]=5.
:4,:60)2:%2—1—5—2:244—56—62:156057&673.
:6,:4@&%2%—22:26+54—42:673.
Pihicxy[7]=3[4]=6[7]=5][x]=4



